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Ex/Sans/PG/4.1E/2019

MASTER OF ARTS EXAMINATION, 2019
(2nd Year, 4th Semester)

SANSKRIT

Course : XVI / E

[ Select Post Asokan  (Pre-Gupta) and Gupta
Inscriptions ]

Full Marks : 30 Time : Two Hours

The figures in the margin indicate full marks.

1— PÎFÛÎFXƒ¶FWðF] ÑF¦˜F ÒèÎFFO õF]ÞP;FÞF ¼WæFÎFF;FÜFFa PáFÑÜFF õFÛFFÍFWÜFFO—
1×5=5

(=+) =+ÑFaP©=W+ÎF ÚF[PÛF=e+ÜF GP¶F PæFðFÜF: =+PõÛFÎFh EPÚFáFW&FW =+PõÛFÎFh
=+FáFW ˜F ÒFÑÜF¶FW?

(&F) =]+ÛFFÞ;F]Ñ¶FõFÛF=+FáFUÎF-¼FÛFX¼ÞÑF ]Þ-¶FFÛFeáF W&FÂÜFFÎF ]õFFÞWµF
PæF=e+U¶FFY ÂFY ÚF[&Fµ°FY =]+·F EFõ¶FFÛFh?

(;F) iP·FPÑF©=+j-èFÙ¼õÜF =+XN»Fa:?

(fF) =+PÎFð=+õÜF J=+˜F¶æFFPÞèFÂðFFaP’~¶FW EFÞFPÚFáFW&FW HPááFP&F¶FFY
ÛFFõF-P¼æFõFFY PáF&ÜFW¶FFÛFh—

(‘~) õFFÞÎFF»FáFW&FáFÙÍFõÜF i˜F¶F]Pù ÑFPÞðFFPùj GP¶F èFÙ¼ÙFÎÍFõÜF
=+XN»Fa:?

(˜F) ¼FÛFX¼ÞÑF]ÞáFW&FW iÎF;FÞêFWòUi iõFF»FaæFFù:j ˜F =+FY EFõ¶FFÛFh?

(š) EFÞFáFW&FW HPááFP&F¶F: i=+GõFÞjèFÙ¼õÜF =+XN»Fa:?
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2— EÍFXPáFP&F¶FWðF] ÑF¦˜F ÒèÎFF: õFÛFFÍFWÜFF:— 5×5=25

(=+) ©U=+F =+FÜFFa— 2+1+2=5

iPÎ F P&FáF F k  Ñ F Fþ Wæ FÛ F ] æ F U a PÛ F P ¶ F j – ; F F Y ¶ FÛ F U Ù FáFêFU: –
iõFF¶FæFFùÎF=]+áF-ÜFõF-ÑFP¶F»FFÑFÎF-=+ÞõFj—

(&F) õFkÒõF”k~ æÜFF&ÜFF =+FÜFFa < 2½+2½=5

(E) EÑFUù áFX=W+ õF=+áFW õF]¼èFaÎFk ÑF]ÛFFk Pù ¼]¼aèFaÎF¶FFk ;F¶Fk
‡FµFF¶Fh—

(EF) ÚFæFÎFÛF¶F]áFk =+FPÞ¶Fk ¼UÑ¶FÞèÛFW:—

(;F) õFFÞÎFF»FáFW&FFÎF]õFFÞWµF =]+¶F: EF;F¶FF: =]+ðFFµFF:? iPÚF‡F]: ÙFáFj
GP¶F ¡FÎFõÜF PæFðFÜFW EPÚFáFW&FWÚÜF: =+F æFF¶FFa ÒFÑÜF¶FW?
¼FÎFPæFðFÜFW &FÞÑFááFFÎFWÎF æFÎFõÑFÞWµF ˜F P=k+ =_+¶FÛFh? PÚF‡F]µFF
ÙFáFWÎF =+U¼_èFk ¼FÎFk =_+¶FÛFh? 1+1½+1+1½=5

(fF) õ=+Î¼;F]Ñ¶FõÜF ¡F]ÎFF;F°FPÚFáFW&FW HPááFP&F¶FF: ÛáFW˜šF: =W+
EFõFÎFh? õF]ÞFñdèFFõFÎFFÜF =+U¼_èF: ;FXÑ¶FF ÒF»ÜFa¶FW ÎF_ÑFWµF
õ=+Î¼;F]Ñ¶FWÎF? =+»FÛFFõFU¶Fh GÜFk ÒF»FaÎFF? 1+3+1=5

(‘~) P;FPÞÎF;FÞèFFõFÎF=+FÜFWa =+»Fk ˜F=e+ÑFFPáF¶F: PÎFÜF]ƒ¶F EFõFU¶Fh?
õF]¼èFaÎF¶F°F;FõÜF PÎFÛFFaµFWP¶FùFõF: æFµÜFa¶FFÛFh— õ=+Î¼;F]Ñ¶F=+FáFW
¶FõÜF õFkõ=+FÞ: =W+ÎF Ò=+FÞWµF =_+¶F:? 1½+2+1½=5

(˜F) ¼FÛFX¼ÞÑF ]-áF W&FFÎF ]õFFÞ WµF =+XP©æFðF aõÜF èFFõFÎFÒ=+FÞ:
EFáFX˜ÜF¶FFÛFh— ÚF[PÛFPæF=e+ÜFPæFPÍF: =+U¼_èF: EFõFU¶Fh?

2½+2½=5
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(š) ÙFPù¼WaèFÎF_ÑFFÎF h =W+ÎF Ò=+FÞWµF PæFP¡F¶FæFFÎF h õFÛF]½;F]Ñ¶F:?
JáFFùFÙFF¼õ¶FÛÚFáFW&FFÎF]õFFÞWµF õFÛF]½;F]Ñ¶FõÜF ;F]µFF æFµÜFaÎ¶FFÛFh—
EPõÛFÎFh õ¶FÛÚFW EÎÜFW EPÚFáFW&FF: õFPÎ¶F P=+ÛFh?

1½+2½+1=5

—————
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